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General Instructions :
The question paper comprises of two sections, A and B. You are to attempt both the sections.
All questions are compulsory.

There is no overall choice. However, internal choice has been provided in all the three questions
of five marks category. Only one option in such question is to be attempted.

All questions of section A and all questions of section B are to be attempted separately.

Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.

Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.

Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.

An additional 15 minutes time has been allotted to read this question paper only. During
this interval you are not to write any thing on the answer book.
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SECTION - A

If 20 waves are produced per second, what is the frequency in Hertz ? 1
Define density. What is the SI unit of density ? 1
How are winds caused ? 1
In which type of plants are nitrogen fixing bacteria present. 1
(a)  Why does a block of wood held under water rise to the surface when released ? 2

(b)  An object of weight 200 N is floating in a liquid. What is the magnitude of buoyant
force acting on it ?

(a) How much work is done when a force of 1 N moves a body through a distance of 2
1 m in its direction ?

(b) Is it possible that a force is acting on a body but still the work done is zero ?
Explain giving one example.

(a) What is meant by potential energy ? Is potential energy a vector or scalar 2
quantity ?
(b) Give one example of a body having potential energy.

List any two human activities which would lead to an increase in the carbon dioxide 2
content of air.

What is top soil ? Mention any two factors that decide which plants will thrive on that 2
soil.

Calculate the number of moles in 5.75 g of sodium (atomic mass of sodium = 23) 2
Define relative atomic mass. Name one tetra atomic and one octa atomic element. 2
Write any two characteristics of class mammalia. Name one egg laying mammal. 2
If you visit a friend suffering from malaria, what are the chances of malaria spreading 2
to you ?

(a) A ball of mass 0.5 kg slows down from a speed of 5 m/s to that of 3 m/s calculate 3
the change in kinetic energy of the ball.

(b) Which would have greater effect on the kinetic energy of an object - doubling the
mass or doubling the velocity ?

(@) The potential energy of a freely falling object decreases progressively. Does this 3
violate the law of conservation of energy ? Why ?

b) An object is dropped from a height h. When is its
) pp 8
(i) potential energy maximum
(ii) kinetic energy maximum
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(a) A mobile ringing inside a vacuum chamber cannot be heard outside. Why ?
(b) Represent transverse wave graphically.
(c) What is meant by loudness of sound ? On what factor does it depend ?

An element X has a mass number 27 and it contains 13 protons.
(i)  Write the symbolic representation of the element.
(i) Find the number of neutrons and electrons in the element.
(iii) Write the electronic configuration of the element.

(a) What is the law of constant proportions ? Explain with the help of an example.
(b)  Which postulate of Dalton’s atomic theory is in agreement with this law ?

Write the most striking features of the following phyla :
(i) arthropoda

(i) amphibia

(iii) porifera

—
[
~

What is the significance of binomial nomenclature ?

—
=)
~—~

Who introduced the system of scientific naming ?

—
(@)
~

Write any two conventions followed while writing the scientific names.

What will be the symptoms of a disease if the target organs are :
(i) lungs

(i) liver

(iii) brain

(a) What are infectious diseases ? Give two examples.
(b) Name two infectious agents.

Describe briefly the Rutherford’s alpha particles scattering experiment. Write the
important conclusions drawn from the experiment.

OR
(a) Define atomic number and atomic mass number of an element.
(b) One atom of an element contains 8 protons and 8 neutrons. Find
(i) number of electrons
(ii) atomic number
(iii) atomic mass

(a) How do forests influence the following :
(i) air
(i) soil
(iii) water
(b) Is the atmosphere on Venus and Mars different from our atmosphere ? How ?
OR
What is soil erosion ? Suggest four methods of reducing soil erosion.
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(a) Mention two practical applications of reflection of sound waves.
(b) How is the pressure variation in a sound wave amplified in human ear ?
() In aripple tank, ten ripples are produced per second. If the distance between a
trough and a neighbouring crest is 12 cm, calculate the frequency, wavelength
and velocity of the wave.
OR
What is meant by intensity of sound ?
(b) Mention the conditions for an echo to be heard clearly.
() A ball is dropped into a pond from a height of 44.1 m. The splash of sound is
heard 3.13 second after the ball is dropped. Determine the velocity of sound in
air.

—
Q
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SECTION - B

While performing an experiment on verifying the laws of reflection of sound, the reflected
sound can be detected better by keeping one ear :

(a) near the end of the tube and keeping the other ear closed.

(b) near the end of the tube and keeping the other ear open.

() Atabout 5 cms from the end of the tube and keeping the other ear closed.
(d) At about 5 cms from the end of the tube and keeping the other ear open.

Four students A, B, C and D while performing an experiment on establishing the relation
between the loss of weight of a small solid when fully immersed in tap water, and the
weight of water displaced by it, use four different shapes of overflow cans containing
water as shown.

The arrangement that would give correct results, is that of student :
@ A (b) B (© C (d) D

A student uses a spring balance of least count 10 gm weight and range 500 gm weight.
He records the weight of a small iron cube in air, in water and in a concentrated solution
of common salt in water. If his three readings taken in this order are W, (50 gm wt),
W, and Wj, he is likely to observe that :

When a body is immersed (fully or partially) in a liquid, the apparent loss in its weight
is due to :

(a) Decrease in the mass

(b) Decrease in its volume

() Anupward thrust exerted on the body by the liquid

(d) Decrease in the density of the body
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Four students A, B, C and D observed and compared the pressure exerted by three
different faces of a metal cuboid of dimensions 15 cm X 10 cm X 5 cm. They recorded
their observations about the depressions observed by them in the sand by the different
faces of the cuboid as follows :

(a) ‘A’ records that the depression is minimum when the face of dimension
15 cm X 10 cm is in contact with the sand.

(b) ‘B’ records that the depression is minimum when the face of dimension
15 cm X 5 cm is in contact with the sand.

() “C’ records that the depression is minimum when the face of dimension
10 cm X 5 cm is in contact with sand.

(d) ‘D’ records that the depression is equal for all the faces.

The water level in a measuring cylinder, before and after immersing a solid in it, is
shown in the figure. The volume of the given solid, in ml is :

lllIiH!HIliHl

(@) 1.0 ml (b) 2.0 ml () 28 ml (d) 1.8 ml

In an experiment on determining the velocity of a pulse, as it propagates through a
stretched wire, a student uses four different lengths of the same wire in increasing
order. The velocity of propagation of the pulse, observed by him, would :

(a) show random variations depending on the strength of the jerk given to the wire
(b) increase with increase in length

(c) Be (nearly) the same for all lengths of the wire

(

d) Decrease with increase in length

While doing an experiment on measuring the velocity of a pulse through a stretched
string, a student had to choose between using a

(i) thick silk string and a thick cotton string
(ii) stop clock and a table clock.

The combination choice that he should prefer is :
(a) silk string and the table clock

(b) silk string and the stop clock

(c) cotton string and the table clock

(d) cotton string and the stop clock
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34. Which of the following figures below will the sound of a tuning fork hit with rubber 1
pad at end A be maximum at end B :

35. Three students A, B and C determine the volume of a solid by immersing it in water 1
in the overflow cans setup as shown. The result obtained will be wrong for :

(a) student A (b) student B
(c) student C (d) all three students
36. Which set of answers classifies the given organisms correctly ? 1

(d)

(a) amphibia, annelida, nematoda, arthropoda
(b) annelida, amphibia, arthropoda, nematoda
(c) arthropoda, nematoda, annelida, amphibia
(

d) nematoda, annelida, arthropoda, amphibia

6
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Bryophytes are more evolved than algae because of the
(a) presence of sex organs

(b) unicellular root like structures to absorb some water
(c) terrestrial habitat

(d) all of the above

What is the role of the air bladder in fishes ?

(a) acts as a reservoir of fresh air

(b) to maintain buoyancy in water

(c) reserve food material is stored in it

(d) acts as lungs when a fish jumps to the surface of water

The distinguishing characteristic of phylum chordate are :
(a) head with a pointed mouth (b) dorsal nerve cord

(c) presence of pseudopodia (d) diploblastic

An adaptation of earthworm is :
(a) aerial (b) burrowing (c) aquatic (d)

Observe the pictures of Cockroach and house fly.

2,

House Fly

The common feature that assigns them in the same phylum is :

(a) three pairs of legs (b) antennae
(c) wings (d) jointed legs
-00o0-
7
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(@) 1.0 ml () 28 ml (d) 1.8 ml
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